A XD
BE: SEMNNY L AT IUMD(FELNSNL/ET )
Sl SHEEY MHE (erel:a e
SA-ZFH-SA(AH) - MRANY - BES Ol & oK ﬁlgi Hus2

CENENEEEEFTEE) 400,000

03 Al & = CH bl 6.000 6,000 0
OF0I@ XY (HE) 6,000

NYotE ZH(SXE) (HBAL) 4,274,000 886,000 3,388,000

IEEEE 4,274,000 886,000 3,388,000

1 Al bl 3,794,000 530,000 3,264,000
OSXE NYotE I (W &) 3,794,000

02 22l 475,000 350,000 125,000
oS XY (BE) 475,000

03 Al 20t 5,000 6,000 A1,000
OBXA XYotE I (Ha) 5,000

AU ZH(SE DY) (REAY) 706,000 0 706,000

IEEEE 706,000 0 706,000

1 Al bl 700,000 0 700,000
O=d DEXP NYsHEZY (X 700,000

03 Al & = CH bl 6.000 0 6.000
OSd DEXP NYSHEZH (H) 6,000

X 2HOHE Ul (5Ha THOH O 2 ) (R Bt AL 20,084,736 21,272,600 A1,187,864

403 Mt H S K= 0l & 20,084,736 21,272,600 1,187,864

01 XXl EHRIXHEZ & 20,084,736 21,272,600 1,187,864
OFZH NYotA I (&) 362,336
OUER - HNE NYSAFH (&) 22,400
OHBE NYotA I (W &) 2,600,000
OAEHE ATXF XNLSHEFH (HE) 400,000
OAZE XX XNYSHEIH (B e) 400,000
OSFA BT NI (R ) 3,600,000
OURE X Yot (Ba) 600,000
OABE - +2d NLSAIH (B ) 300,000
OYALHE NSXD XY ZH (H) 2,400,000
ONSTH NotaEIH (B ) 1,000,000
Oz2d XYSE I (Ba) 1,000,000
O0EE NYotEZHI (W &) 600,000
ODISE XYot&EHH(Ha) 600,000
ONE SH2XT NYSHEZH (H) 600,000
OLeld BT MY (M) 600,000
OSIHE XYSEIH (RE) 1,000,000
OSYd XYotE (B ) 3,000,000
OSSd ST XYo@ (Re) 1,000,000

SR8 OMMD 2 2el2s 28,183,300 34,507,200 6,323,900
2 20,842,000
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A
X XH -
(=

S

by
A& XML % 2el&st

1
paa]
FY

SN BB S (SA) - MM - BES Ofl &b b Bl REZ

S 7,341,300

otd Zte|l HEst 3,635,700 4,275,200 A 639,500

202 O4Hl 10,200 10,200 0

01 =LA BI 10,200 10,200 0
OHESRX 2el M= EA 8,500
Ot B E5I It A 1,700

207 O] 277,000 170,000 107,000

02 & &HOH 2| 277,000 170,000 107,000
OLIXNEER StdEHE 25 277,000

403 XM S0l & 3,348,500 4,095,000 A 746,500

01 XX E XM A2 2= 3,348,500 4,095,000 A 746,500
OXstd Fl 1,878,000
OTMHoHCHEl XIZotd St=HEbBIALS 1,470,500

2o RN ES(=21) 11,091,000 15,776,000 A 4,685,000
= 11,091,000

403 AXIEHHS 201 E 11,091,000 15,776,000 A 4,685,000
= 11,091,000

01 XA =2 = 11,091,000 15,776,000 A 4,685,000
O=Jtotd FANE =+ 11,091,000
= 11,091,000

AEAHAL (=) 9,751,000 9,900,000 A 149,000
= 9,751,000

403 X SHH S0l & 9,751,000 9,900,000 A 149,000
= 9,751,000

01 HXESHA2E = 9,751,000 9,900,000 A 149,000
ORFH E4XHE 9 A4 9,751,000
= 9,751,000

XNLotd A 2el At 3,705,600 4,556,000 850,400

201 24| 205,600 256,000 A 50,400

01 At 22|l 205,600 256,000 A 50,400
OHESX 02 dHEI =2 88,000
OEEEY Y SI+4E 117,600

401 A& HI Y 201 8] 3,500,000 4,300,000 800,000

01 AIEHI 3,500,000 4,300,000 800,000
OotdBUEX 24 2,000,000
OXgstd Il A= 1,500,000

#HE2AZH (X4=1)(I1EHIIE) 31,863 31,863 0

|2 &l 31,863 31,863 0

fHNEE JI2Zl 31,863 31,863 0
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2AH: XE
& #Y2IF (=) (IIEH/IIE)
el D123l
SA - ZE - SR(3N) NEAY - B S Ol &k e
201 g2l 22,449 22,449
01 At 22l tl 22,449 22,449
ORA2Y ARl 22,449
202 o4l 5,814 5,814
01 =LHOA Bl 5,814 5,814
OfAM2Y IO 5,814
203 YR =2 3,600 3,600
04 EN2IERFLH 3,600 3,600
©2092! Olat 300,000& x12& 3,600
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